Kuta Software - Infinite Algebra 2
Simplifying Radicals
Simplify. Use absolute value signs when necessary.
1) 24
246

3) ~/-162
346

5) /12818
2n2\4/§

7y 2247
21”\/5 7r?

Disregardabsolutevalue
symbolswhenchecking
your answers.

9) \/392x?
14| x[ V2

11) ~405x%)>
3’\/4 5x°y?

13) 128x7y
2‘)6‘ . ‘y‘ ‘\/4 8)c3y3

15) ~448x7y
2| [y N7y

Critical thinking questions:

17) What simplifies into 2mn*~ Smn> 2

’\/3 40m*n®

Name

2) /1000

10

1) /512
1682

6) \/98k
72k

8) ~24m’
2m \3/5

10) V51242
16‘x‘\/5

12) -164°b®

2ab>2b?

14) 16xy
2\/3 2xy

16) ~56x°y
2)c’\/3 7xy

18) Simplify 307 5 Y

Zny’\/” 3y’

Period
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ayoung
Text Box
Disregard absolute value symbols when checking your answers.


Kuta Software - Infinite Algebra 2 Name

Adding, Subtracting, Multiplying Radicals Date Period___
Simplify.
1) —5+/3 -3/3 2) 24/8 = /8
—8/3 242
3) -6 - /6 4y —3+/5+2+/5
—5/6 5
5) —3+/27 —3+27 = 3+/27 6) —312 + 33 + 3320
273 343 +64/5
7) —2+/45 —3+/20 —2+/6 8) —3+/3 — 2192 — /320
—12+/5 -2+/6 73 =25
9) —33/-3 +23162 + 381 10) 433 +2~/32 = 33192 = 23192
123 + 66 —6~/3 +4~2
11) =320 — 45 + 2135 + 216 12) 236 — /6 + 36 — 3384

235 + 432 576 -76



13) /3. =20

—/60

15) V6 -2
23

17) 3+/3(4=3+/5)
124/3 = 94/15

19) 4v/15(+/6 + ~/5)

124/10 + 203

21y V150210 - 4+/6)
106 — 12410

23) (V24 - 5) (724 - 5)

14a — 40N 2a + 25

25) (\/3 + \/5x)(\/3 = 54/5x)
3—4~/15x — 25x

14) N5 /3
15

16) V3.9

3

18) 4/15(-3/6 + 5)
~367/10 + 2015

20) —/2(~/10 - 4+/6)
/5 +8/3

22) (=7 ++/3x)(4 + \/3x)

28— 3+/3x +3x

24) (24 /5) (<2 + /5k)
—4+2V§2—2V§+5V;

26) (7 +/6)(1+/6)
13+8V€
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Kuta Software - Infinite Algebra 2 Name

Dividing Radicals Period____
Simplify
V9 V4
1) —F— 2) ——
RUT ) s
3 1
5 3
J1s Ja
3) —F— 4) ——
RVF e
s s
2 10
5 V2 6 V2
4~/s 35
NS 4~/10
10 15
7 —3—\/5 8) 34345
W17 N
3317 - /34 V6 +34/10
51 8
V3 s
9 10
: “1-+5 : 5+/2
V3-+/15 5/5 - /10
4 23
2-4/3 443
11 12
' s ' s
4-2~/5 =23+ /15 —4+8Vs5++/3-2415

19



4432

3
13 14) ———
' 5.5 4> - 5k
“12+4v5 -9+/2 + 3310 1
4 3k?
2 3
15) — = 16)
3 /322 \5x =3
6+2x/3 3+/5x +9
9 — 3x? 5x—9
5 3
17) —r- 18y 10
42 625
4 5
19) Y2 20) 34
33162 28
% 5
9 4
21) Vs 22) ~10
4~/27 32
J15 V20
12 4
23) —5+5\4/g 24)3+\3/§
36 Jo
_5~/216 + 5~/1080 33+ /9
18 3
x+ N=5xty? 3 /5K
25) —= L 26) ~r—a
3+15x%y 353
2~/225y% —5y/9y%x 327k — /135463
45y 3k
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